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� � �� �
��	�� �� �� |PB| = |PB′| >
|PC|��� �� 	� � � � ��� ����� �
�� �� � � �� �� |PB| =
|PB′| < |PC|��� �� 
�� � ����� �
�� �
��	� � �	�� ��

������ B 	B′ 
� �� 
� 
� AD�� � ������
� � 
� � �� ��

� �	�� 
��� �� � �� ����	� ���	��
	� � ���
�	� ���
� �

��� �	��#	�� � � 
��� �	�
� #������� +���� ���� #	

�� � ����� � ��	� �� �� �� ��
������	�� �� ���� �������


�� ���(�� �H � �� �� 
	� ��� ��	������
� ����>���

� �� ���� 
�� ����� �� B 	B′�? � ��	� ��� ��� �� �� � � �
�


� �� 
� 	
����� ������� ��	� 
� AD� H � � �� �� ��

� �	�� 
� 
� 
� ��	�	2��
�� ��
����	�� � ����

	�� ��	�	

�� � ��� ��� ����	
� |PC|�� � ��
���� �� 	
 ������ P
� ����� � ��� ����

	�� � ���� ���� |PB| �� �� �� �


�	����� � ��� ��
����	�� 
� ����

	�� � ������ � � B 	B′�

�� �
���� ��!�
� �"� �����# � ! $%�&�



����� "�C�
��
������ �
����� 2 $����+�� �

?� ��	� �� ��� �
�	�� � �� �� � �	� ���� ������ �� ������	

APB 	APB′ ����� �
�� � �#
	��� 
� � �����
� 
� �� �


� ���� �
�������	
� ���� 
	�� 	� ���� ���� � ���	� �

�� �� �� �� ����
� 
� �� 
	� ��� �
�
	� ������	� � �� �

? � ��	� �� � � � ��� � �� �� �� �� ������
� ��� �
	� � � � ��

����� �
�� �� �� � 	�� 
� � � ��� (�� � � 
� �� �� ����(� ��

� � �� �(�� 
���� ��#	�� ����� �
��� H � �� �� ������

B 	B′ 
� �� 
� 	

� � AD� ���#��
� � ��
�� � ��(�	

�� �� �� ? � ��	� 
� � �� �� 
� 	�� � � 
� 	���� ����	�� �
��

� �� � �� �� � ���� ���	�� �� � � 
	4���� �	�� 	� � �	
� ��


	� #������ � �� �
	
	�� ��� �� 
� � ���	��	� � �� ��

�

� ��� �� � � ��� � ����
� #������ � �����	
� �
���

��
��
� ��� � ����
���� �
	
	�

�� 
��	��� 


H � � �� �� � � � 
� ���	�	� � �	
� �
	�� #�����	� �#��	�	

� � �� �� 	
��� 	���� � 
��	� � � ��� � �	��� �� �% � 	� � 
	

� ��	� ����� � �	, �
(�+���� ���� � 	1 ��
� ? � ��	� � � ���

�� ���	�� ��� � ��� (�� 
�� 	� � �	
� �
�� #���� ��=
	�	��


� �� � �	��
	���	�� � �� 	���� �
	�� 
�� 
� ��� � ��������

���
 	��(�� � �����(�� � �� 
� ��
�� ��	��� ��	� � �	
� �
	

#�����	�� � ���� � �	� ��
����	� � ����	�	��� � ����
�

� 
� �	
��� ��
� ���		� �������� � �
��	
� ���� ������ =�	�

� 
� �	
	�	#�� �	�� �� �����	�� 
�� �	�
� �� �� ��� 
	�		�	�


� � 	�	K�	�� ���� 
�
�� � ��� 
	�		� 
��	� ����	�

� �������	� � �� 
� ��
�� � ����
� ���
����	���%
	��

�� �
� 
�	� � � ��� � �	�� ���	�� ���	� '��� 
���� � ����


�� �� ���� � � �� � �� �	� ��	���
	� ����� � � 
�	�����

� ��� (�� 
�� �� 

� ��� �� 	
� �� 
� ��
�� 
� � �� �� � � ���

� � �	���

5 67 89 �7 : 9 �

� ����-
E����	
/$%�(�3F�
���������������� ���,	�+����+� �	

� �� ���
�� � � � �	
� �G !�	�?� � � �	� � �����

$ ����-
E����	
/$%�%�3F�
���������������� ����,	�+����+� �	

� �� ���
�� � � � �	
� �G !�	�?� � � �	� � �����

' -�C�,� +���� �7���
� 	+���F �������� ��� �
	���	�� !

"#
�
�

( � ��� �	�� +� ���)	?	
F$�
���� , e, i ��
� �
�������

& )� ��� �� � A�
/$%�%�3F%	 ���&�	��' (���) (�� *�
�' 
+√−1�)
�
�	��
:
�,	
�	�� )
	� ��

1 6� � ��
� 
� � 
! ��� # �	H 
�� �	
�Fhttp://www.
ukessays.com/essays/mathematics/
imaginary-and-complex-numbers.php
/!� ��� # �� �	�	F&�1�$%�&�3�

" 6� � ��
� 

��
��Fhttp://hr.wikipedia.org/
wiki/Imaginarni broj
/!� ��� # �� �	�	F&�1�$%�&�3�

� C � 
�	?��	,���
!�
� �
������ ,Fhttp://hr.wikipedia
.org/wiki/Kartezijev koordinatni sustav
/!� ��� # �� �	�	F1�1�$%�&�3�

0 9 	
�	 �	��� 
�	�Fhttp://hr.wikipedia.org/
wiki/Ren%C3%A9 Descartes
/!� ��� # �� �	�	F1�1�$%�&�3�

��


